CHAPTER 11 - Selected Answers “Evens” 
          p.1
Section 11.1 (p.636)

2. 5  4. 6/7  6. 4.5  8. yes  10. yes (assuming 
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, no division by zero!)  12. 6  14. 39  
16. 7  18. 2  20. 6/7  22. 4/3  24. 
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  26. 27  28. -10  30. 5/3  32. -6, 9  34. 6  

36. 120 clay pots  38. 22 in.  40. Sample Answer: Set up the proportion as: 
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Notice the inch units cancel on the right side of the equation but not on the left. We can (should?) change 1 ft to 12 inches so we don’t have to worry about units. This gives us: 
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. Now we can cross-multiply to check if this proportion is correct. 

So does… 
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 ?  Let’s see… ‘4 goes into 192, 48 times…’ So yes, 
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42. J  44. y + 2 = 2(x + 1)  46. y – 8 = -(x + 8)  48. x – 2y = 7  50. 3x – y = -5  52. y = -1 

54. -3  56. 
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Section 11.2 (p.642)

2. Inverse Variation is a specific relationship given by the equation: 
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 When the proportionality constant, k, is positive (most often), then as x increases, y decreases.
4. neither  6. inverse variation  8. direct variation  10. 
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  12. y = 3x  14. 
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32. direct variation  34. C  36. 
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 42. Neither; the equation (relationship) is: 
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 where G is gas and ‘x’ is miles. Close to y = kx (!) 

44. F  46. 12.6  48. 450  50. 9900  52. yes  54. no  56. (7x + 1)(x + 1) 58. 9x(2x + 1)(2x – 1) 

60. 2x(3x + 8)  62. 2  64. 2  66. 2  68. 
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p.2

Section 11.3 (p.649)

2. A ‘rational expression’ is a ratio of 2 polynomials (not zero). Another way… ‘is a fraction where the numerator and denominator are polynomials (nonzero).’
4. 7y  6. 2x  8. 
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  14. x + 2  16. 
[image: image31.wmf]5

x

  18. 
[image: image32.wmf]3

2

x

-

  20. 
[image: image33.wmf]2

5

8

x

  

22. already simplified (division would get us: 
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  (The first answer being in ‘factored form’.) 

34. simplified  36. 2x – 1  38. 
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 (It’s much easier to follow written vertically!)

50. J  52. 
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68. 9.009  70. 1.68  72. 110.02

Section 11.4 (p.655)
2. To divide, multiply the reciprocal of the divisor.  4. 
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32. 8  34. 
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 48. (see left)  50. 
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  52. C  
54. Sample Answer: When x = 2, y = 11, when x = 4, y = 13, when x = 6, y = 15.

56. D: 
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  70. a4 + 4a3 – a – 1  72. 3t2 + 8t + 10  

74. 0.98  76. 0.185  78. 1.0  80. 0.75 

Section 11.5 (p.660)
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32. n2 – 144 (a difference of 2 squares) was factored incorrectly; answer: 
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72. 15, 21, 28   74. 
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Section 11.6 (p.667)

2. One of the top 5 most common algebra errors is ‘failing to distribute a negative sign’.
3x – (2x – 2) = 3x – 2x + 2 (with the emphasis on the ‘+2’ or ‘plus 2’. 
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  8. 9x3  10. 3yz2  12. 39v7  14. (x – 2)(x – 4)  16. 44x2  18. 14x2 – 42x
20. x2 – 9x  22. 
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  48. 5 h  50. 44/35  52. C  54. C  

56. y – 5 = –x   58. y – 5 = 5(x – 5)  60. y + 3 = 
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  70. 2x2 + 6x – 9 = 0  72. x2 – 12x + 25 = 0  74. 5x2 – 4x – 8 = 0 

76. 0.475  78. 0.206  80. –0.799  82. –0.279  84. –0.92  86. 1.714 

Section 11.7 (p.674)

2. Use the cross-multiplication trick.  4. 24x2  6. 
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Extension – Rational Functions (p.680)

2. 
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Chapter 11 Summary and Review (p.681)

2. –30  4. 9, –4  6. 
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  44. –1 

Chapter 11 Test (p.685)

1. 30/17    2. 8, –4    3. 7, 3    4. 4, –4    5. 4,8,12,16 directly    6. 50,25,50/3,25/2 inversely  

7. 4.5,9,13.5,18 directly    8. 7.5,3.75,2.5,1.875 inversely   9. 14x2    10. 
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Chapter 11 Standardized Test (p.686)

1. B    2. C    3. D    4. C    5. A    6. D    7. D    8. D    9. B

Maintaining Skills (p.687)
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